

PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

January 24, 2018

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street Toronto, ON PIAC FILE # 6660

VIA E-Mail 10 pages

Dear Ms. Walli:

M4P 1E4

Re:

Board File No. EB-2017-0032-Centre Wellington Hydro Ltd. Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

We have attached the cost claim of the Vulnerable Energy Consumers Coalition (VECC) associated with its participation in the above noted proceeding. We have also directed a copy to Applicant as well as their Counsel via email.

Thank you.

Donna Brady

Office Administrator

cc:

 $Centre\ Wellington-Florence\ Thiessen-\underline{Thiessen@cwhydro.ca}$

Counsel - Michael Buonaguro - mrb@mrb-law.com



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				Instructions	
			cable, state	ormulas are embedded in the form to assist vexchange rate and country of initial currency.	
Disbursemen However, on - The cost cla - A CV for each	nts Being Claime ly one "Summan nim must be sup ch consultant/a	d") is required for eary of Fees and Disbur ported by a complet nalyst must be attac	ach lawyer, a rsements" co ed Affidavit hed unless p	Country: cd" (comprising a "Statement of Fees Being Classianalyst/consultant and articling student/parasovering the whole of the party's cost claim shisting by a representative of the party. Direction on Cost Awards, itemized receipts	legal. ould be provided. est Award Tariff.
File # EB-	2017-0032			Process: Centre Wellington Hydro Lt	d.
Party:	Vulnerable E	nergy Consumers	Coalition	Affiant's Name: Donna Brady	
HST Numbe	er: 13059 2	2405		HST Rate Ontario:	3.94%
		Full Registrant Unregistered Other		Qualifying Non-Profit Tax Exempt	
MENTA				Affidavit	
I,		Donna Brady		_ , of the City/Town of	Ottawa
in the Prov	ince/State of	<u> </u>	ntario	, swear or affi	rm that:
2. I have exa Being Claime 3. The attach Disbursemer Ontario Ener 4. This cost of	mined all of the ed", "Statement(led "Summary o lts Being Claime gy Board proces laim does not in	documentation in so (s) of Fees Being Clain f Fees and Disburser d" include only costs as referred to above.	upport of the med" and "S ments Being s incurred ar work done, o	y") and as such have knowledge of the matter is cost claim, including the attached "Summar Statement(s) of Disbursements Being Claimed Claimed", "Statement(s) of Fees Being Claimed at time spent directly for the purposes of the por time spent, by a person that is an employed irection on Cost Awards.	ry of Fees and Disbursements ". ed" and "Statement(s) of Party's participation in the
Cignotuno	of Afficiant	0	_/	<u> </u>	
Signature			1	1 12·00	
	vince/State of	ore me at the City	Ontario	Ottawa , on <u>TANUAM</u> (date)	74-24, 208
Ben	Regel-	Brown			
Commissio	oner for takin	g Affidavits			



Affidavit and Summary of Fees and Disbursements

File # EB- 2017-0032 Process: Centre Wellington Hydro Ltd.

Party: Vulnerable Energy Consumers Coalition

Sum	nmary of Fe	es and Disbursements Being	Claimed	
Legal/consultant/other fees	\$	14,197.50		
Disbursements	\$:=		
HST	\$	559.38		
Total Cost Claim	\$	14,756.88		

Payment Information

Make cheque payable to: Public Interest Advocacy Centre

Send payment to this address: 1204-ONE Nicholas Street

Ottawa, ON K1N 7B7



Detail of Fees and Disbursements Being Claimed

File # EB-	2017-0032		Process: C	entre Wellington Hydro Ltd.	Hydro Ltd.		
Party:	Vulnerable Energy Consumers Coalit	tion	Service Pro	ovider Name: Cynthia Khoo			
	SERVICE PROVIDER TYPE (ch	eck one)	Year Called to Bar 2016	Completed Practising/Years Experier	of Relevant		
	Articling Student/Paralegal Consultant			Hourly Rate:	\$170		
	Analyst For Consultant/Analyst:	CV attach	ed ed within previous	HST Rate Charged (enter %):	3.9%		

Sta	atement o	of Fe	ees Being	Cla	imed		
	Hours	Но	urly Rate	- 8	Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	170.00	\$	2	\$ 	\$
Attendance		\$	170.00	\$	-	\$ -	\$ -
Technical Conference							
Preparation		\$	170.00	\$	-	\$ 	\$
Attendance		\$	170.00	\$	-	\$ - 15	\$ -
Interrogatories							
Preparation		\$	170.00	\$	2	\$ -	\$ _
Responses		\$	170.00	\$	-	\$	\$ -
Issues Conference							
Preparation		\$	170.00	\$	-	\$ 	\$ -
Attendance		\$	170.00	\$	2	\$ -	\$ 3
ADR - Settlement Conference							
Preparation	1.90	\$	170.00	\$	323.00	\$ 12.73	\$ 335.73
Attendance	14.50	\$	170.00	\$	2,465.00	\$ 97.12	\$ 2,562.12
Proposal Preparation	1.60	\$	170.00	\$	272.00	\$ 10.72	\$ 282.72
Argument							
Preparation		\$	170.00	\$		\$ (<u>2</u>)	\$ 9 -
Oral Hearing							
Preparation		\$	170.00	\$	-	\$ 7-7	\$ -
Attendance		\$	170.00	\$	-	\$ 7	\$ -
Other Conferences							
Preparation		\$	170.00	\$		\$ 	\$ 2
Attendance		\$	170.00	\$		\$ 7#7	\$ _
Case Management		\$	170.00	\$		\$ -	\$ •
TOTAL SERVICE PROVIDER FEES				\$	3,060.00	\$ 120.56	\$ 3,180.56

Centre Wellington Hydro (EB-2017-0032) -- Time Docket -- Cynthia Khoo

Date	Lawyer	Client	Project	Task	Start	Finish	Hours	Note
2017-11-20	CK	Vulnerable Energy Consumers	VE 0017 Centre Wellington	OEB - Prepare for	4:30 AM	4:54 AM	0.4	Review record and materials
		Coalition (VECC)	(EB-2017-0032)	Settlement Conference				
2017-11-20	CK	Vulnerable Energy Consumers	VE 0017 Centre Wellington	OEB - Prepare for	8:00 AM	9:30 AM	1.5	Review materials, prepare requests / question
		Coalition (VECC)	(EB-2017-0032)	Settlement Conference				The state of the s
2017-11-20	CK	Vulnerable Energy Consumers	VE 0017 Centre Wellington	OEB - Attend Settlement	9:30 AM	5:30 PM	8.0	Attend settlement conference - Day 1
		Coalition (VECC)	(EB-2017-0032)	Conference				
2017-11-21	CK	Vulnerable Energy Consumers	VE 0017 Centre Wellington	OEB - Attend Settlement	10:00 AM	4:30 PM	6.5	Attend settlement conference - Day 2
		Coalition (VECC)	(EB-2017-0032)	Conference				Such supplier and a supplier of the supplier o
2017-12-04	CK	Vulnerable Energy Consumers	VE 0017 Centre Wellington	OEB - Review/Process	1:53 PM	2:25 PM	0.5	Review settlement agreement
		Coalition (VECC)	(EB-2017-0032)	Documents				
2017-12-05	CK	Vulnerable Energy Consumers	VE 0017 Centre Wellington	OEB - Review/Process	5:40 PM	6:14 PM	0.6	Review settlement agreement
		Coalition (VECC)	(EB-2017-0032)	Documents				and the state of t
2017-12-08	CK	Vulnerable Energy Consumers	VE 0017 Centre Wellington	OEB - Review/Process	12:02 AM	12:32 AM	0.5	Review final settlement agreement
		Coalition (VECC)	(EB-2017-0032)	Documents				

Cynthia Khoo

External Counsel, Regulatory Affairs

Public Interest Advocacy Centre 1139 College Street Toronto, ON M6H 1B5 604.725.5484

ckhoo@piac.ca

STATEMENT OF ACCOUNT

January 23, 2018

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re:

EB - 2017-0032

Centre Wellington Hydro Ltd.

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$170.00 per hour

To receipt, review, attend on behalf of VECC in the above-noted proceeding.

November to December 2017

TO: Hours

18.0 Hours @ \$170.00 per hour

3,060.00

HST @ 13%

397.80

TOTAL AMOUNT DUE AND OWING:

\$ 3,457.80

Cynthia Khoo - HST # 739361897



Detail of Fees and Disbursements Being Claimed

File # EB-	2017-0032	Process: Centre Welli	ngton 2018 Rates	
Party:	VECC	Service Provider Nam	e: Bill Harper	
	SERVICE PROVIDER TYPE (che	Year Called to eck one) Bar	Completed Years Practising/Years of Relevant Experience	
	Legal Counsel		38	
	Articling Student/Paralegal Consultant		Hourly Rate: \$330	
	Analyst For Consultant/Analyst:	CV attached HST Rate CV provided within previous 24 months	Charged (<i>enter</i> %): 3.9%	

S	tatement o	of Fe	es Being	Cla	imed		
	Hours	Но	urly Rate	- 8	Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	330.00	\$	-	\$ 	\$ 328
Attendance		\$	330.00	\$	-	\$ -	\$ (+)
Technical Conference							
Preparation		\$	330.00	\$	-	\$ 	\$ -
Attendance		\$	330.00	\$	2	\$ - 4	\$ -
Interrogatories							
Preparation	2.7528	\$	330.00	\$	907.50	\$ 35.76	\$ 943.26
Responses		\$	330.00	\$	-	\$ -	\$ (= 0
Issues Conference							
Preparation		\$	330.00	\$		\$ -	\$ 9/
Attendance		\$	330.00	\$	=	\$ 1/2	\$
ADR - Settlement Conference		,					
Preparation	7.257.3	\$	330.00	\$	2,392.50	\$ 94.26	\$ 2,486.76
Attendance		\$	330.00	\$	-	\$ -	\$ -
Proposal Preparation	0.5	\$	330.00	\$	165.00	\$ 6.50	\$ 171.50
Argument							
Preparation		\$	330.00	\$	-	\$ 1,00	\$ <u>=</u>
Oral Hearing							
Preparation		\$	330.00	\$	-	\$ (#)	\$ -
Attendance		\$	330.00	\$	-	\$ -	\$ -
Other Conferences							
Preparation		\$	330.00	\$	-	\$ -	\$ -
Attendance		\$	330.00	\$	-	\$ -	\$ -
Case Management		\$	170.00	\$		\$ 	\$ -
TOTAL SERVICE PROVIDER FEES				\$	3,465.00	\$ 136.52	\$ 3,601.52



Detail of Fees and Disbursements Being Claimed

File # EB-	2017-0032	Process: Centre Wellin	ngton 2018 Rates
Party:	VECC	Service Provider Name	e: Mark Garner
	SERVICE PROVIDER TYPE (ch	Year Called to eck one) Bar	Completed Years Practising/Years of Relevant Experience
	Legal Counsel Articling Student/Paralegal Consultant		30 Hourly Rate: \$330
	Analyst For Consultant/Analyst:	CV attached HST Rate CV provided within previous 24 months	Charged (<i>enter</i> %): 3.9%

S	tatement o	of Fe	ees Being	Cla	imed		
	Hours	Но	ourly Rate		Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	330.00	\$	-	\$ 527	\$ 74
Attendance		\$	330.00	\$	-	\$ 21	\$ \$ 4 5
Technical Conference							
Preparation		\$	330.00	\$	-	\$ 	\$
Attendance		\$	330.00	\$		\$ -	\$ · =:
Interrogatories							
Preparation	8.5	\$	330.00	\$	2,805.00	\$ 110.52	\$ 2,915.52
Responses	3.5	\$	330.00	\$	1,155.00	\$ 45.51	\$ 1,200.51
Issues Conference							
Preparation	025 03	\$	330.00	\$	82.50	\$ 3.25	\$ 85.75
Attendance		\$	330.00	\$	120	\$ 4	\$
ADR - Settlement Conference							
Preparation	11.0	\$	330.00	\$	3,630.00	\$ 143.02	\$ 3,773.02
Attendance		\$	330.00	\$	-	\$ -	\$ -
Proposal Preparation		\$	330.00	\$		\$ -	\$ -
Argument							
Preparation		\$	330.00	\$	39%	\$ 2 -	\$ 121
Oral Hearing							
Preparation		\$	330.00	\$	-	\$ -	\$ > - (
Attendance		\$	330.00	\$	-	\$	\$
Other Conferences							
Preparation		\$	330.00	\$	2	\$ -	\$ 129
Attendance		\$	330.00	\$	-	\$ _	\$ (#3)
Case Management		\$	170.00	\$	-	\$ 	\$
TOTAL SERVICE PROVIDER FEES				\$	7,672.50	\$ 302.30	\$ 7,974.80

Econalysis Consulting Services Inc.

34 King St East Suite 630 Toronto, Ontario M5C 2X8

21

11

37

Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

Statement of Costs

Date	File #	
1/19/2018	2018005	

Terms	Docket No.
Net 30	EB-2017-0032

Project

Centre Wellington 2018 Rates

Serviced	Item	Description	Hours	Rate	Amount
10/17/2017	Interrogatories Preparation	ВН	2.75	330.00	907.50
10/24/2017	Interrogatories Preparation	MG: Draft Interrogatories/Notes	8.5	330.00	2,805.00
11/14/2017	ADR Preparation	ВН	1.5	330.00	495.00
11/14/2017	Issues Conference Preparation	MG: Review Issues List	0.25	330.00	82.50
11/15/2017	ADR Preparation	ВН	3	330.00	990.00
11/16/2017	ADR Preparation	ВН	1	330.00	330.00
11/17/2017	Interrogatories Responses	MG: Review interrogatory responses/prepare follow-up questions for ADR	2	330.00	660.00
11/18/2017	ADR Preparation	MG: Prepare interrogatory notes for CK/VECC	6.5	330.00	2,145.00
11/19/2017	ADR Preparation	MG: Complete ADR notes/send-discuss with CK legal VECC	4.5	330.00	1,485.00
11/20/2017	ADR Preparation	BH	1.25	330.00	412 E0
11/20/2017	Interrogatories Responses	MG: Attend 1st part of settlement conference for purpose of clarifying interrogatories and reviewing clarifications of interrogatories of other parties (9:30-12pm - reduced charge)	1.5	330.00	412.50 495.00
11/28/2017	ADR Proposal Preparation	BH	0.5	330.00	165.00
12/4/2017	ADR Preparation	BH Subtotal	0.5	330.00	165.00 11,137.50

HST #10160 6028

Total

Econalysis Consulting Services Inc.

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

Statement of Costs

Date	File#
1/19/2018	2018005

Terms	Docket No.
Net 30	EB-2017-0032

			1461.5	· '	EB-2017-0032
		Project			1 A 7 8 5 5
		Centre Wellington 2018 Rates			The state of
Serviced	Item	Description	Hours	Rate	Amount
	======	HST on Sales		13.00%	1,447.88
- w					
		HST #10160 6028		\$1,447.88	
			Total		\$12,585.38

Please make cheque payable to "Econalysis Consulting Services Inc."